SHORT TEST 1 UNIT 8 Solutions Intermediate

Grammar

I Complete the sentences with the correct passive

form of the verbs in brackets.

1. We (delay) by a long traffic jam on our way here today.

(2]

. The letter (post) two days ago.

3. When they arrive they (drive) across town in a limousine.

4. The new song (record) at Abbey Road today.

h

. The photos (take) before they moved to America.

6. The book (write) by Charles Dickens.

-]

. Your passport (check) at passport control.

o0

. The programme (broadcast) when the power failed.

=]

. The criminal (identify) by two witnesses last week.

10. The new park (open) by the Queen next Saturday.
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Vocabulary

IT Complete the sentences with the correct words,

1. We waited for the train on ............cocoevernenn four.

2. Is there a direct train to Edinburgh? I don’t want to ................c..... .
3. The accident caused a long .............cccooeveevnnn. on the motorway.

4. We had a terrible holiday because the airline lost all our .................. .

5. We ....cceeeeeee 2t 4.30 p.m. but we didn’t get off the plane for an hour.
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